Perimeter and Area

( Pratice set 46 }

1. A page of a calendar is 45 cm long and 26 cm wide. What is its area ?
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2. What is the area of a triangle with base 4.8 cm and height 3.6 cm ?
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3. What is the value of a rectangular plot of land 75.5 m long and 30.5 m broad at the

rate of 1000 rupees per square metre?
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4. A rectangular hall is 12 m long and 6 m broad. Its flooring is to be made of square
tiles of side 30 cm. How many tiles will fit in the entire hall? How many would be

required if tiles of side 15 cm were used?
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